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iJ'-elta dE F"€ isàira c+EÌv€rsE*rri

i1 m = C,00i km = 3-c,37 in = 3,28 ft = i,09 yci

1 cra= 0,0t m = 0,3937 in = 0,0328 fi = 0,0'109 yd

I
I

1

:

:

-1I

t
I

i

EI
I

j

I
I

I
i

i
I

i

I
I

I

f,
l
j

I,
I

j

I
I

i

I

l-unghe:za - Disiènza

metro

ce ntimetro

miglio ierresire US

hand (palmo)

I

I

l_-

I-'
'i-'-T

ì-:
i,
-i'

,.'
L._

.t*.

i-_

':--

., krn= 1000 m = 1093,61 yd = 0,5396 naui mi = 0'6:1!] tn'

I in = 0,0S33 Il = A'0279 vd = 2]c4 cm = 0,0254 m
inch (pollice)

1f.= 12 in = 0,333 vd = 30,48 cm = 0,3043 mfoot {piede}
1 vd = 3 ft = 36 in = 91.44crn = 0,9144 m

17ard {iarcia) lYc

"-,*"i I "*t n'i = 1,853 km = i'853,18 m = 2'026'57 yd = 
.1 

'151 mi
migiio marino

t *i = t,SOg km = 1'60-0,35 m = 1'760 yd = 0'868 mllll

f rp"n = 9 in = 0,7497 X= O.ZWspan (spanna)

Superf cle 
,

centimeiro quadrato cmt 1 cm' = 0,0001 m' = 0,1 55 in' = 0'u01 1 ît u,uuul l yo'

kilomeirc quaciraio lttt 1 km2 = 1'000'000 m'= '1O0 ha = 0,386 mi? = 247 jOS ac

1a = 100 m'= 0,01 ha = 1'076,39 Ît? = 11s,599 vd'= u,uuuij3db ml- = u,uz+ ac

; i," ='169 3= 10'000 m: = 0,O1 kmz = 107'539,'1 rt' = 0,0039 miz = 2'4-i ac

square inch iin' i in: = 0,00694 Íi'= 6,4516 cm:

square íooi |ft" i Íi2 = 0,092 m' = 144 in2 = 0,11.1 Yd=

i vd2 0.636 m2 = e361 ,27 cm2 = 9 ft? = 1'296 inz = 0'0C02 ac

imF = :.59 kmr = 259 ha = 340 ac

I

lot
I

1 ac = a'0a6,86 m2 = 0,0040 km'?= 0,40 ha = 4A'47 a = 43'560 ii2 = 4840 vci'? =

0.00156 mi?

Volume

metro cubo mt
f nr'= f OOO dm'= 35,3146 Ît'= 61'023,744 ir-r" = 1,308 yd'-- ?64,JO galUs =

2'19,97 galUK

decimetro cubo; Iitro dm' ' 
Orn" =11=0,001 rn3 =61 ,024 in3=0,0353it'=0,00131 vo3=0,26417 galUS =

0,21997 galUK

centimeiro cubo i "r'= 
0,001 dm3 = 0,001 I = 0,061 in'= 0,000264 galUS = O,000229a1 UK

cubic inch in' r # = O,000OrO+ m? = 0,0164 dm3 = 0,0005787 ft3 = 0,0043 galUS = 0,C036 galUK

cubic foot ft' I n'= A,OZAZZm'=28,32dm3 = 1'728 in3 = 0,037 yd3 = 7,48 galus = 6,23 galUK

cubic yard vd3 1 vrir = 0 764 m= = 764.55 dm3 = 46'656 in'= 27 ít'= 201,97 galUS = 163,i 8 galUh

gallon US 9aluS 1 oalUS = 0,00378 m: = 3,785 dm3 = 231 in'= 0'134 ft. = 0,004S yd3 = 0,833 galUK

gallon UK ^^l.ud'uK qalUK = 0,00455 mj = 4,546 dm3 = 277 ,42 in? = Ú,16 ft3 = 0,0059 yd" = 1,2 galUS

Pressíone - For:a/SuPe:-iicie
., Pa = 

.1 N/m' 1 kPa = 0,0.1 bar = 0,1 N/cm2 = 0,10 mH2O = 7,5 mmHg = 0'00-og

aim =0.'145 psi = 0,02088 lbí1ft'?= 0,334 ítH2O

fbar = 100,000 pa = 
.100 kPa = 1,0197 kg/cm2 = ro.198 mH2O = 750 mrnHg =

0,987 atm = 
.14,5 

Psr = 33'455 ftFi2O

millìbar
i- . lJ;b* = ìoo p, =00'10 mH2o =0,750 mmHa = 0,00102 kg/cm2= 0,0'i45 psi =

imDar lz oaa wfit'= 0,033 ítH20I 
-i:::------_[- T1 rtHs= 133.322Pa = 0,133 kPa =0,00133 bar = 0,0136 mH2O = 0'00131 aim =

0,00136 kg/cmz = 0,019-34 psi = 2,78 taffi" = 0,0a5 ftts49!!lllip€ld di mercurio


